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• Ñi;k tk¡p dj ysa fd bl iz'u-i= esa eqfnzr i`"B 15 rFkk iz'u 47 gSaA  

Please make sure that the printed pages in this question paper are 15 in number 

and it contains 47 questions. 

• iz'u-i= esa lcls Åij fn;s x;s dksM uEcj dksM uEcj dksM uEcj dksM uEcj dks Nk= mÙkj-iqfLrdk ds eq[;-i`"B ij fy[ksaA 

The Code No. on the top of the question paper should be written by the candidate 

on the front page of the answer-book. 

• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

Before beginning to answer a question, its Serial Number must be written. 

• mÙkj-iqfLrdk ds chp esa [kkyh iUuk / iUus u NksMsa+A 

Don’t leave blank page/pages in your answer-book. 
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• mÙkj-iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 

dkVsaA 

Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA 

Candidates must write their Roll Number on the question paper.    

• d`i;k iz'uksa dk mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u-i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 

lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the question, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k % 

    (i) lHkh iz'u vfuok;ZlHkh iz'u vfuok;ZlHkh iz'u vfuok;ZlHkh iz'u vfuok;Z    gSagSagSagSaAAAA 

 (ii) bl iz'u&i= esa dqy 47 iz'u gSa] tks pkjpkjpkjpkj [k.Mksa    %%%% v] c] lv] c] lv] c] lv] c] l rFkk nnnn esa foHkDr gSaA 

 (iii) [k.M[k.M[k.M[k.M    &&&&    vvvv esa iz'u la[;k 1 ls 35 rd oLrqfu"B@cgqfodYih izdkj ds iz'u gSaA izR;sd iz'u 1 

vad dk gSA 

 (iv) [k.M[k.M[k.M[k.M    &&&&    cccc esa iz'u la[;k 36 ls 40 rd vfr&y?kwÙkjkRed iz'u gSaA izR;sd iz'u ds 2 vad gSaA 
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 (v) [k.M[k.M[k.M[k.M    &&&&    llll esa iz'u la[;k 41 ls 45 rd y?kwÙkjkRed iz'u gSaA izR;sd iz'u ds 3 vad gSaA 

 (vi) [k.M[k.M[k.M[k.M    &&&&    nnnn esa iz'u la[;k 46 o 47 nh?kZ mÙkjkRed iz'u gSaA izR;sd iz'u ds 5 vad gSaA 

 (vii) lHkh nh?kZ mÙkjkRed iz'uksa eas vkUrfjd NwV miyC/k gSA ,sls iz'uksa esa ls vkidks dsoydsoydsoydsoy ,d,d,d,d gh iz'u 

djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) This question paper contains 47 questions, which are divided into four 

Sections : A, B, C and D. 

 (iii) Section – A contains question numbers 1 to 35 of objective/multiple choice 

type questions. Each question carries 1 mark. 

 (iv) Section – B contains question numbers 36 to 40 of very short answer type 

questions and carrying 2 marks each. 

 (v) Section – C contains question numbers 41 to 45 of short answer type 

questions and carrying 3 marks each. 

 (vi) Section – D contains question numbers 46 & 47 of long answer type 

questions and carrying 5 marks each. 

 (vii) Internal choice is available in all long answer type questions. You have to 

attempt only one of the given choice in such questions. 
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[k.M [k.M [k.M [k.M – vvvv    

SECTION – A 

¼oLrqfu"B@cgqfodYih¼oLrqfu"B@cgqfodYih¼oLrqfu"B@cgqfodYih¼oLrqfu"B@cgqfodYih;;;;    izdkj ds iz'u½izdkj ds iz'u½izdkj ds iz'u½izdkj ds iz'u½    

(Objective/Multiple Choice Type Questions) 

  fuEufyf[kr cgqfodYih; iz'uksa ds lghlghlghlgh mÙkj pqfu, % 

   Choose the correct answer of the following multiple choice questions : 

1. fdl oxZ esa vkj-QkbdksbfjfFkzu izeq[k o.kZd gS \ 1 

(A) DyksjksQkblh (B) Qh;ksQkblh 

(C) jksMksQkblh (D) buesa ls dksbZ ugha   

In which class r-Phycoerythrin is the major pigment ? 

(A) Chlorophyceae (B) Phaeophyceae  

(C) Rhodophyceae (D) None of these   

2. fdl la?k esa can ifjlapj.k ra= gksrk gS \ 1 

(A) ,susfyMk (B) vkFkksZiksMk 

(C) eksyLdk (D) gsehdkMsZVk 

In which phylum closed circulatory system is present ?  

(A) Annelida  (B) Arthropoda  

(C) Mollusca  (D) Hemichordata  
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3. Xykses:yl vkSj cksesu laiqV dks feykdj dgrs gSa % 1 

(A) lehiLFk laofyr ufydk (B) nwjLFk laofyr ufydk 

(C) gsuys ywi (D) buesa ls dksbZ ugha 

Glomerulus along with Bowman's capsule is called :  

(A) Proximal convoluted tubule  (B) Distal convoluted tubule  

(C) Henle's loop  (D) None of these  

4. fuEufyf[kr esa ls dkSu Jo.kxzkgh ds :i esa dk;Z djrk gS \ 1 

(A) fØLVk  (B) eSD;wyk 

(C) vkWxZu vkWQ dkWVkZbZ  (D) ;s lHkh 

Which of the following acts as auditory receptor ? 

(A) Crista  (B) Macula  

(C) Organ of corti (D) All of these  

5. fuEufyf[kr esa ls fdlesa vkWDlhtu ;qDr jDr gksrk gS \ 1 

(A) egkf'kjk (B) Qq¶Qqlh; f'kjk 

(C) nkfguk vfyan (D) nkfguk fuy; 
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Which of the following have oxygenated blood ? 

(A) Vena cava  (B) Pulmonary vein 

(C) Right auricle  (D) Right ventricle 

6. Xykbdkstu fdldk cgqyd gS \ 1 

(A) Xywdkst+ (B) ÝDVkst 

(C) xSysDVkst (D) vehuks vEy 

Glycogen is a polymer of :  

(A) Glucose  (B) Fructose  

(C) Galactose  (D) Amino acid 

7. fuEufyf[kr esa ls fdlesa flusIVksfuey lfEeJ curk gS \ 1 

(A) fyIVksVhu (B) tkbxksVhu 

(C) isdhVhu (D) Mk;kdkbusfll 

In which of the following Synaptonemal complex is formed ? 

(A) Leptotene  (B) Zygotene  

(C) Pachytene  (D) Diakinesis  
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8. dkSu-lk dksf'kdh; vaxd ,d f>Yyh ls f?kjk gksrk gS \ 1 

(A) ykblkslkse  (B) jkbckslkse  

(C) ekbVksdksafMª;k (D) U;wfDy;l 

Which cell organelle is surrounded by single membrane ? 

(A) Lysosome  (B) Ribosome  

(C) Mitochondria  (D) Nucleus  

9. fuEufyf[kr esa ls fdlesa dksf'kdkvksa dh ,d ijr gksrh gS \ 1 

(A) 'kYdh midyk  (B) ?kukdkj midyk 

(C) LraHkkdkj midyk (D) ;s lHkh 

Which of the following is made-up of single layer of cells ?  

(A) Squamous epithelium (B) Cuboidal epithelium 

(C) Columnar epithelium  (D) All of these  

10. ¶yks,e rarq ¼ckLV js'kk½ fdlls cuk gksrk gS \  1 

(A) iSjsadkbek dksf'kdkvksa ls  (B) dkWysadkbek dksf'kdkvksa ls 

(C) Ldysjsadkbek dksf'kdkvksa ls (D) buesa ls dksbZ ugha  
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Phloem fibres are made-up of :  

(A) Parenchymatous cells  (B) Collenchymatous cells  

(C) Sclerenchymatous cells  (D) None of these  

11. fdlesa eqDrlLraHkh; chtkaMU;kl gksrk gS \ 1 

(A) Mk;,saFkl  (B) ljlksa  

(C) lwjteq[kh (D) xsank 

Which is having free central placentation ? 

(A) Dianthus  (B) Mustard  

(C) Sunflower  (D) Marigold  

12. fdu iq"iksa esa vaMk'k; Å/oZorhZ gksrs gSa \ 1 

(A) pkbuk jkst+ (B) ljlksa  

(C) (A) vkSj (B) nksuksa  (D) dqdqEcj ¼?kh;k½ 

The ovary of which flowers is superior ? 

(A) China rose  (B) Mustard  

(C) Both (A) & (B) (D) Cucumber  
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13. dkSu-lk rÙo ja/kzksa ds [kqyus vkSj can gksus esa egÙoiw.kZ Hkwfedk fuHkkrk gS \ 1 

(A) ukbVªkstu  (B) QkWLQksjl  

(C) iksVSf'k;e  (D) dSfY'k;e  

Which element play important role in opening and closing of stomata ? 

(A) Nitrogen  (B) Phosphorus  

(C) Potassium  (D) Calcium 

 fuEufyf[kr izR;sd iz'u dk mÙkj ,d,d,d,d ;k nksnksnksnks 'kCnksa@okD;ksa esa nhft, % 

 Answer each of the following questions in one or two words/sentences : 

14. ,dO;kllefefr iq"i fdls dgrs gSa \ 1 

What is zygomorphic flower ?  

15. ifjtk;kaxrk iq"i fdls dgrs gSa \ 1 

What is perigynous flower ? 

16. f'kjkfoU;kl fdls dgrs gSa \  1 

What is Venation ? 

17. 'oluewy fdls dgrs gSa \ buds dk;Z nhft,A  1 

What are pneumatophores ? Give their function.  
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18. vko/kZ RoDdksf'kdk,¡ D;k gksrh gSa \ 1 

What are bulliform cells ? 

19. gsVsjksflLV D;k gksrs gSa \ 1 

What are heterocysts ? 

20. fdUgha nksnksnksnks ,ddksf'kd 'kSokyksa ds uke fyf[k, ftudk mi;ksx varfj{k ;k=h Hkh Hkkstu ds :i esa     

djrs gSa \  1 

Write the name of any two unicellular algae which are used as food 

supplements even by space travellers.  

21. ,d vaMt Lru/kkjh dk uke fyf[k,A  1 

Write down the name of an oviparous mammal.  

22. fdl ySfVu 'kCn ls ^flLVsesfVDl* 'kCn fy;k x;k gS \  1 

From which Latin word 'systematic' is derived ? 
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23. VhykslsfUVªd xq.klw= D;k gksrs gSa \ 1 

What are telocentric chromosomes ? 

24. iwjs ck;ksLQh;j esa dkSu-lk izksVhu lokZf/kd gksrk gS \ 1 

Which is the most abundant protein in the whole of the biosphere ? 

25. U;wfDyd vEy ds fuekZ.k [k.M ¼fcfYMax CykDl½ D;k gksrs gSa \ 1 

What are the building blocks of nucleic acid ? 

26. ,iks,atkbe fdls dgrs gSa \ 1 

What is apoenzyme ? 

27. varjkoLFkk esa D;k gksrk gS \ 1 

What does happen in Interphase ? 

28. dksf'kdk pØ dh fdl voLFkk esa xq.klw= fcanq dk VwVuk ,oa v/kZxq.klw= dk i`Fkd~ gksuk gksrk gS \ 1 

In which stage of cell cycle centromere splits & chromatid separates ? 
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29. lhykse fdls dgrs gSa \ 1 

What is coelom ? 

30. QksVks-QksLQksjhys'ku fdls dgrs gSa \ 1 

What is photo-phosphorylation ?  

31. thonzO;dqapu D;k gksrk gS \ 1 

What is plasmolysis ? 

32. o`f) dh ifjHkk"kk fyf[k,A  1 

Define Growth. 

33. fXylal dSIlwy fdls dgrs gSa \ 1 

What is Glisson's capsule ? 

34. QsQM+ksa dh fØ;k'khy vof'k"V {kerk dh ifjHkk"kk fyf[k,A  1 

Define functional residual capacity of Lungs.  

35. var%'kks"k.k fdls dgrs gSa \ ,d mnkgj.k nhft,A  1 

What is Imbibition ? Give an example.  

www.M
sE

du
ca

tio
nT

v.c
om



 ( 13 ) 1530 

1530   P. T. O. 

[k.M [k.M [k.M [k.M – cccc    

SECTION – B 

¼ vfr y?k¼ vfr y?k¼ vfr y?k¼ vfr y?kwwwwÙkjkRed iz'u ½ÙkjkRed iz'u ½ÙkjkRed iz'u ½ÙkjkRed iz'u ½    

( Very Short Answer Type Questions ) 

36. Mk;Ve~l ds D;k ykHk gksrs gSa \ 2 

What are the benefits of Diatoms ? 

37. lw=h foHkktu dh e/;koLFkk dh eq[; fo'ks"krk,¡ fyf[k,A 2 

Write down the key features of metaphase of mitosis.  

38. esykVksfuu gkWeksZu ds dk;Z D;k gSa \ 2 

What are the functions of melatonin hormone ? 

39. ,d fiPNkdkj la;qDr iÙkh] gLrkdkj la;qDr iÙkh ls fdl izdkj fHkUu gS \ 2 

How is a pinnately compound leaf different from a palmately compound leaf ? 

40. ikniksa esa ftCcsjsfyal dh dkf;dh; vuqfØ;k,¡ fyf[k,A  2 

Write down the physiological responses of Gibberellins in plants.  
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[k.M [k.M [k.M [k.M – llll    

SECTION – C 

¼ y?kwÙkjkRed iz'u ½¼ y?kwÙkjkRed iz'u ½¼ y?kwÙkjkRed iz'u ½¼ y?kwÙkjkRed iz'u ½    

( Short Answer Type Questions ) 

41. xkWYthdk; dk varnzZO;h tkfydk ls fudVre laca/k D;ksa gS \ o.kZu dhft,A  3 

Why the Golgi apparatus remains in close association with the Endoplasmic 

reticulum ? Explain. 

42. mfpr mnkgj.kksa lfgr rus ds :ikarjksa dk o.kZu dhft,A  3 

Describe modifications of stem with suitable examples.  

43. izdk'k-la'ys"k.k dh izdk'k vfHkfØ;k dk o.kZu dhft,A  3 

Describe light reaction of photosynthesis. 

44. oxZ dksafMªDFkht+ ds egÙoiw.kZ vfHky{k.k fyf[k,A  3 

Write down the important characters of class Chondrichthyes. 

45. vkek'k; esa Hkkstu ds ikpu dh fØ;k dk o.kZu dhft,A  3 

Describe the process of digestion of food in stomach. 
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[k.M [k.M [k.M [k.M – nnnn    

SECTION – D 

¼ nh?kZ mÙkjkRed iz'u ½¼ nh?kZ mÙkjkRed iz'u ½¼ nh?kZ mÙkjkRed iz'u ½¼ nh?kZ mÙkjkRed iz'u ½    

( Long Answer Type Questions ) 

46. ekud bZ lh th ds js[kkafdr fp=.k }kjk mlds fofHkUu [kaMksa dk o.kZu dhft,A  5 

Explain the different segments of standard ECG with the help of diagrammatic 

presentation of a standard ECG. 

vFkokvFkokvFkokvFkok    

OR 

vxzefLr"d dh lajpuk dk o.kZu dhft,A 

Describe the structure of Forebrain. 

47. gSp ,oa LySd ikFkos dk o.kZu dhft,A  5 

Describe Hatch and Slack Pathway. 

vFkokvFkokvFkokvFkok    

OR 

VªkbdkcksZfDlfyd vEy ¼Vh lh ,½ pØ dk o.kZu dhft,A  

Describe TCA (Tri Carboxylic Acid) cycle.   

S 
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